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2 35234l 242,112 267,249 N25,137
O=2-Utet 2MAIAE FXIE==(H/W)
196,350,000 *8/100 15,708
OJISZRIAAE FKIE==(H/MW)
99,528,000& *8/100 7,963
ORSHUSESREAIAE RX2= 11,070
—AlB (H/W) 126,660,0002 *8/100 10,133
-2 (S/W) 7,801,720&+12/100 937




SA: #HD
A NSHLAS A
el Y2 (Ete &
% 2 4
SA - BE - G9I(3H) - NIRAY - BAS Ol v e HlRE2
OJIASHAIAE X84 21,951
— KTt (H/W) 259,084,0002 %8/ 100 20,727
~ZZ ) 3(S/W) 10, 194,000& *12/100 1,224
OMH=RAIAE(ORS) RARE2 19,238
—ME (H/W) 182,716,600 *8/100 14,618
~Z2724(S/W) 38,498,000& *12/100 4,620
OAOIEZEYUAAE FXE 8,386
=M H (HW) 8,000,000& *8/100 640
~Z 2 T (S/W) 64,550,000& *12/100 7,746
OLHS AN AR S22 18,664
~H Q4 ZH| (H/W) 73,849,43021%8/ 100 5,908
~ZZ ) 3(S/W) 106,291,870& *12/100 12,756
OQURHAAIALY ST B4 6,690
=M B (HW) 29,774,000& *8/100 2,382
~Z2724(S/W) 35,900,000& *12/100 4,308
OSBHIAIZAIZE (SW)
43,356, 1302 *12/100 5,203
OX oIt o |24 (S/W)
18,200,000& *12/100 2,184
OMQUBBELI|Z BRI AL RXI22(S/W)
95,060,000 *12/100 11,408
OPCHRI BB R SAIAE(PII) RRIZ4(SM)
53,082,950 *12/100 6,370
OUIPCXIZI0IAI A SXI22=(S/W)
20,075,000& *12/100 2,409
ORHABIRIAIAE KX 24(S/W)
35,000,000 *12/100 4,200
ONAHTBIRNAAL RXI24 8,20
~ZZ2 T (S/W) 69,099,800& *12/100 8,292
OZHOIXl &48S/W RXE= 7,085
DR AT E Of
19,400,000 *12/100 2,328
~HBAMATEOf
15,640,000 *12/100 1,877
~A2 ) 2AATE0](24)
24,000,000& *12/100 2,880
OS&2I0(S)AIAE SAL+
19,585,000 *15/100 2,938
OUIOIHHIOIAZZ N (22tE) KRB
145, 141,0002 *15/100 21,772
OAMOILIXIAIAE S22
52,010, 1902 *8/100 4,161
OFESUSE JIASIAAY RS
50,165,570 *12/100 6,020
OZZTCI0IE 2 APIAAL RABS
20,000,000%12/100 2,400




A lFL
M NsEEAe 74
el Y2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSENAIZAAE AEZ
8,000,000& ~6& 48,000
308 AHXIEMSOIE 167,306 144,126 23,180
183 S| 2SO U ZB&HAEAIE 167,306 144,126 23,180
OXNLHFSSAALY AGHEH 2 6,950
OREIZOIAAE S8 =Xl 6,000
O38718t & Mol S+AIAE FX 2l 110,321
O2Lict EMAIAE Sl 82 A 44,035
SR AL 2S 36,000 57,600 A21,600
201 er2 3| 36,000 57,600 A21,600
02 S3=gHl 36,000 57,600 A21,600
OERI=2eRE AlEZ
6,000,000 63 36,000
JatEH Y & RX2 271,699 347,666 ANT5,967
201 2= 72,19 72,666 VAV:s74
01 At2t2lt] 10,000 10,000 0
Oxitd 294 10,000
2 35234l 62,199 62,666 N4BT
Od &Yl F A2 =H] 62,19
-FH 1,300,000 *563CH*7/100 51,233
-Teig 600, 000& *150CH+7/100 6,300
-LES 1,400,000 *17CH*7/100 1,666
-JIEH A 3,000
405 KHaHF S| 199,500 275,000 AT75,500
01 ML ESFSHI 199,500 275,000 AT75,500
O M AEH 199,500
-B=H 167,500
=X 1,300,000 *100CH 130,000
2LIE 250,000 = 150CH 37,500
-ZglH 600, 0003 *20CH 12,000
-CESERH 1,800,000 * 10CH 18,000
-HICIREZZ HE 2,000,000+ 1CH 2,000
48 2ZE0 7Y & RA2A 149,220 140,480 8,740
201 el 149,220 140,480 8,740
01 At2teltl 149,220 140,480 8,740
OAIRE A2ZE0 75,220
S Of fice(GAS) 250,000 *200H 50,000
-812(ALA) 97,0002 *260H 25,220
OO0I0IX BE AZE O
550, 000& *327H4 17,600
Odl AZEYN 37,140
-ol=A AHE 600,0003 *19H 11,400
22 AHE 440,000 6 H 2,640




A lFL
T SHDAS P
ol HEEES (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ALRE 33,0002 *7007H 23,100
OREClE AZE 0 15,0003 *720H 10,800
O2AXE AZEN 600,000 *2H 1,200
OYRAS3HRPA) AZEY O
7,260,000 1K 7,260
HelE28s 28t 6,300 6,552 N252
201 er23 | 1,800 1,800 0
01 At2teltl 1,800 1,800 0
ONRIHEBES s 2Ag
100,000 *BAI 2+ 800
ONIEEES EES M 1,000
202 04| 4,500 4,752 N252
01 =LHOIH] 4,500 4,752 VAVZISY
Ol Ee 2elat] 53 4,500
A0IERCIX] 25 & SHAtA 1,240,000 0 1,240,000
= 992,000
== 74,400
[Ea 173,600
207 AR 1,240,000 0 1,240,000
= 992,000
=S 74,400
s 173,600
02 HAHHEHHI 1,240,000 0 1,240,000
OAOIERCIX 28 X AHALY 1,240,000
[ 992,000
= 74,400
Ea 173,600
NS5t 69,290 110,702 AN41,412
SHOIX 29 25,450 25,450 0
201 et 3| 25,450 25,450 0
01 At2t2l] 3,500 3,500 0
Odgels € Toe A= 2,000
Od 824 2503 25 &AM 1,500
2 s5=34l 21,950 21,950 0
Otz EHOIK |2
183,678,5002 11.95% 21,950
CIAE SHg 2st 33,280 32,230 1,050
201 fer=3| 33,280 32,230 1,050
01 AtR2te|Hl 33,280 32,230 1,050
OUXE o 23t u=x 30,700
-AAN=E 35,0002 »40AI 2H+6E +3H 25,200
LN PAIES 11,0003 #5002 5,500




SN ™D
ZH: FSEDAE 7
=elr NEE st (St &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
SEEEFEIENET NPT
90,000 12& 1,080
O3S IREY 2Y 1,500
MOIHZEIME 24 10,560 18,040 AT,480
201 B2 AL 10,560 18,040 AT,480
01 At 22|l 10,560 18,040 AT,480
OAOIH D&tz 2l EE2 M 2,000
OAOIH D&z 2l EE S0 HHE
70,0002 *8IH 560
OAOIH 14281 OIHIE =&
2,000,000 *43] 8,000
HES4ES S& HMA 2E 2,955,618 3,587,102 AB31,484
& 196,284
= 2,759,334
NEH HESAAMHA P 2,098,392 2,432,836 A334,444
& 196,284
i 1,902,108
CCVSE2HEEH 23 1,796,906 2,151,518 A34,612
201 Ler2 | 1,159,306 905,819 253,487
01 At 22|l 412,204 2,752 409,452
OCCIVS &2 HME A28 2 2,500
OCCTVSE 2 HME 34D| dgs
21,0003 = 128 252
OCCvEg 2 e SIIE8EI| dEgz
39,000& * 12& 468
ORUERE 2
4,260,250 x8F 122 408,984
02 324l 747,102 903,067 A 155,965
OodgEE IV 3ldz 289,692
-QIHY 3z 32,0003 *R3| &+ 123 35,328
-NE3H= 82,0003 *5173| & +63 254,364
OgdE CCTV = Al 250,656
~XHEHS OIAZ-2016
18,469,000 *8CH*6/100 8,866
X2 S0 AE-2017
18,581,000 *8CH*6/100 8,919
—XEBSIAIZE-2018
18,723,000 *8CH*6/100 8,983
X} 5 01 Al 22019
12,802,000 *28CH*6/100 21,508
X2 5 01 AL 22020
14,751,600 *10CH*6/100 8,851
—X B S 1Al ZE-2021
12,250,000 *12CH*6/100 8,820
-HEl0I2&&-2016
6,023,000 *13CH*6/100 4,698




SN BED
M HESAS S8 oE 1A 7E
E: NEE HBESAAEIA 2E (CHol: &S1)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
-HelolEEE-2018
4,542,000 x67CH*6/100 18,259
-Hel0l|Es2-2020
3, 175,000 *50CH*6/100 9,525
—-OtNSH=ZE0IS0HED|-2014
6,585,000 *35CH*6/100 13,829
-OtNMEts=0IS0H=D(-2015
7,951,000 *30CH*6/100 14,312
-OtNMSts=0I20H=D(-2016
6,222,0002! *33CH*6/100 12,320
-OIMSts=0I20H=SD1-2017
6,293,000 *27CH*6/100 10,195
~M B 20017 7,975,000 *40CH*6/100 19,140
M S 22018 5,829, 00024 +50CH+6/100 17,487
M B 20019 4,642,000 +630H+6/100 17,547
—AHEHEHH Z-2020 3,005,000 *45CH*6/100 8,357
=20y 5,857,000 *59CH*6/100 20,734
A B(5)H02)
8,971,000 x34CH+6/100 18,301
OZHISE &l AL 155,732
—ol=RI0 (155) 854,811,500 6/100 51,289
~HAEHl & 2HEHI(7TE)
131,787,000 %6/100 7,908
-ATEN(9Z) 484,198 ,0002%10/100 48,420
-HERT SoHEHI(9B)
408,828,0002+8/100 32,707
-CCTVIHA R E 2| Al AE
48,000,000 +8/100 3,840
-ADELE2HIAIAE(S/W)
62,800,0002!%10/100 6,280
-ADE MY 2ERIAIAE(H/W)
17,132,000 +6/100 1,028
—ZIIBET| Al AEL(IPS)
53,240,000 %8/100 4,260
Oog-sE v &)=
6,000 «624 ) A+ 122 44,928
OQEIE=ALE B2
304, 700& *20H 2~ 6,094
401 A& H|I L E0HY] 572,600 450,600 122,000
01 Al&HI 572,000 450,000 122,000
OXfetHSoIAR (Y &3
30,000,000 & *5CH 150,000
ogsZ v & Xl 10,000,000 * 15CH 150,000
OkL=Z: g¢-8&E CCTV WAl
8,000, 000& *34CH 272,000
03 Al 2 0HHI 600 600 0
OCCTV & X Al&=20HH] 600




A lFL
Ny HPEAS S5 OFL 2H
ol DEE F2ESAAHIA FE (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
405 AHaHE = 65,000 421,467 AN356,467
01 It =S F = 65,000 421,467 A\356,467
OCCIVEE 2 NHE =HE=AAX] wH
65,000,000& * 14 65,000
ZE2SUSAL ALEE A 6,502 6,502 0
201 ger=3| 1,750 1,750
01 AtR2te|H] 1,750 1,750
OZESUSAH AISE ZAIEHl nEH|
250,000 *7CH*12] 1,750
202 04l 4,752 4,752
01 =LHO LI 4,752 4,752
OZESAUSAI AISHE A SHEAAM 4,752
Oelol2= -9 0TV &Xl 84,000 88,000 24,000
401 AIEHIX SO 84,000 88,000 24,000
01 Al&H| 84,000 88,000 24,000
Ok= 0el0l2= 2 CCTV wH-2015
4,000,000& *21CH 84,000
ZSSuCCTV 2HE el 189,984 186,816 3,168
< 189,984
201 fer23| 189,984 0 189,984
= 189,984
01 At2t2ltl 189,984 0 189,984
O=SstulClV 2HH23 el2t|
3,958,000& x4« 123 189,984
= 189,984
sHE S4Y DESAY 21,000 0 21,000
& 6,300
= 14,700
402 QI>F X201 & 21,000 0 21,000
= 6,300
o 14,700
03 2IZHRAETAI I 21,000 0 21,000
Os& SHYNE3 AFH(4HL) 21,000
= 6,300
o 14,700
Aol HESAY 29 857,226 1,154,266 A297,040
FESAUAAE H AIE 22 347,923 490,779 A142,85%6
101 e124d| 14,672 28,630 13,958
M ORNZZ2NSE S 14,672 28,630 213,958
Ouleta JIZtHZ22 A 212
78,8803 x1H6E x31& 14,672
201 Ler=23 | 237,576 231,571 6.005
2 s5=34l 237,576 231,571 6,005




A lFL
Ny HPEAS S8 OFA 2H
el e He FESAY 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O7USeIdZ K| 2,000
OSAEH € 34 0I& &XIH| 20,000
OIPEEIAIAE R 736,231,000 *6% 44,174
OFUHEESAY 2|
618,729,680 *8% 49,499
OCENHIARSTY 2 ZFY 2|
269,758,000 8% 21,581
OFLMHESAIAHE S
265,439,000 *8% 21,236
ORHEHHEJEXI(PS) KXl 9,791
-SH, N=sdl, 224
4,141,000 13CH+8%+0. 83 3,575
praFas= 26,662,000 *2CH*8% 4,266
-CCTV 2tHI At E 24,368,000 +8% 1,950
Oog=gsIl =l 4,403
-Sald 15,579,000 6% 935
S At 15,345,000 6% 921
=M1 26,950, 0002 6% 1.617
—CCTV2HRI &I E 15,500,000 6% 930
O z|2AI A S| 1,735
-2 &P Jtoilet 15,687,000 8% 1,255
—POP TV 3,000, 0002 *2CH*8% 480
OHZEH(32d) KX
19,300,000 6% 1,158
OdzH () |l 34,400,000 6% 2,064
OSEARLIAOIA(C)AIAE [
51,350,000 *9% 4,622
OFAX = Xlb| 250,000 *35CH*6% 525
BT 2 AEFH =AM
400,0002 %105 4,000
O8EI17| sl 3,000
OHl&e M) FXH| 75,756,000 6% 4,546
OREFENAIAYE KXY
8,112,000 « 14 8,112
OADIENSLSAIAE S|
171,300,000 *10% 17,130
OuPsg EXXI(&arA) 300,000 *60H 18,000
401 AIEHIX SO 10,900 37,200 A\26,300
01 AlZH| 10,900 37,200 A\26,300
O=28 =& U=3d Wi 10,900
405 AtatE=H 84,775 193,378 108,603
01 TR =SFISHI 84,775 193,378 108,603
Owps(Salal) 20,000
O7UY == PoE ARIX 49,670
-HIERID AR 2,810,000 = 17CH 47,770




SN ™D
Ny HPEAS S8 OFA 2H
chelr oAl HAESMY 29 (St &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
-BIC 2= 190,000 =104 1,900
OIPE | 345, 0002 »30CH 10,350
OFAX 317,000& * 15CH 4,755
HESAIEet 134,843 220,687 A85,844
201 B2 AL| 58,843 51,687 7,156
02 B3=2gH| 58,843 51,687 7,15
OodYsty Sl 41,250,000 *8% 3,300
OSRHAOIE XtHAIAE KXY
78,480, 0003 +8%+0. 754 4,709
OHIZE RMHENHEX/EHAMAE 2L
42,300,000 8% 3,384
OB =Xt 17,600, 0002 x8% 1,408
OBUYTIAAE(2I2Y) S|
41,580, 0003 +8%+0. 754 2,495
OF AT EAN ATEN RKXIbI
39,160,0002 *8% 3,133
obostis AMAE RXId|
40,150,000 8% 3,212
O3 stEdl |l 48,400,000 8% 3,872
OFLXHAIAE(HRY) S
25,105,000 x8% 2,009
OB URHAIAB (MHE) S
25,105,000 x8% 2,009
OENHRISHAIAE(01F3H) KXY
42,300,000 8% 3,384
OBURAIAE(0I1FS) A
24.,970,0002 *8% 1,998
OgSst&EbI(01&Es) |l
69,726,000 x8% 5,579
OEATHAIAR(SHE) *XIHI
24,054,190 8% 1,925
OAOIHE HCHE 22 ZSHAIAE S|
28,751,440 x8% 2,301
OUIE/ITEZMAHAIAE(NAC) S XIHI
119,240,000 x8% 9,540
OWN(RoIoI2243D|8) K]
8,910,000& »8% 713
OYAAHANAE FXIYI 48,400,000 x8% 3,872
405 XHobE S| 76,000 169,000 293,000
01 XML =EF S| 76,000 169,000 93,000
Ok= SHOIXNZ &ats WA 34,000
OZHOIXNY HULXIAAE AF 42,000
FESAY JldE & BER= 374,460 442,800 A68,340
201 L2 | 374,460 442,800 A68,340
02 Z324Hl 374,460 442,800 68,340
OR&EdEs B2 55,0002 =8CH*12& 5,280




A lFL
M YESLE St rd ik A
ol HEFC 2SN 23 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=IEESA NHIAZ(HE3IH)
350,000 362 & +63 75,600
OgEtMs AIZR
25,0002 x1662| & * 12 49,800
OFUEs AIZR 125,000 »4LH* 122 6,000
O=Uds Jd=
24,0002 x453| K123 12,960
OgeE 2 g
32,0002 1192| &H* 122 45,696
OlHY dat= 5,000,000& ~12& 60,000
OZ320II0l 2ld=
33,000 *1192] &= 123 47,124
OLDIE =S 28 & 3d2
6.,000,000& 122 72,000
SHE2HAH (HF D) 40,808,013 62,007,867 A\21,199,854
Jl 80,000
=S 4,000
s 40,724,013
QIR AHI(EZ) 40,396,860 61,465,550 /21,068,690
Jl 80,000
= 4,000
[Ea 40,312,860
QIZHI(S) 27,030,562 45,471,263 18,440,701
101 212A4H| 27,030,562 45,471,263 18,440,701
01 2= 25,035,525 42,028,679 16,993,154
oJlzs 16,199,509
-2 120,000,000 12 %50% 60,000
-43(R2 =) 101,827,000 * 12 +50% 50,914
“43(8 0 E) 101,827,000 *32Z *50f% 152,741
S (dUes) 85,878,000 *35E *50% 1,502,865
63 (RB=2) 4,288, 100 211 * 122 x50% 5,428,735
-1=2(1283) 3,125,500 «201E 122 x50% 3,769,353
8= (5688) 2,163,600 « 143 x 122 +50% 1,856,369
-9=3&3) 1,867, 1002 x 126 * 123 #50% 1,411,528
-NE2(Lnes)
85,878,000 *3H #50% 128,817
-XEA(16SS)
3,438, 1003 x26E + 122 5% 536,344
-HTRAH12ES)
3,321,900 9 122 +50f% 179,383
-2+ 1,122,460
o= g 3,182,551
-Fi2esg 1,435,299
-S0E A+ 350,000




SA: #HD
Mo WESAAH|(HH D)
Gl A2 HH(SZ) (CH9): &S
SN - BH . S(B) - HPAR - BAS ol by e HDS2
PN
50,0003 *26H * 122 x50% 7,800
NIy TPS= 200, 0002 *32 * 122 +50% 3,600
—S0tEEAY
1,500,000 42 * 122 *50% 378,000
R =rN =y = 260,880
255 0] & 130,000 3 * 155 * 122 *50% 120,900
- 200 A ~25E 0| Bt
110,000 %45 * 12 *50% 29,700
- 1580l A ~20E 0] 2t
80,0003 *87H * 12 x50% 41,760
- 100 A ~ 1550/ ©F
60,0002 *92H x 122 *50% 33,120
- 5 0] A~ 104D 2
50,0003 * 148 * 12& *50% 44,400
-2+ 190,724
52 (N52)
5,269, 1002 x 1 * 122 x4 1%+50% 1,297
6= (232 =2)
4,288,088 #1212 » 122 »4. 1%+50% 127,640
72(1752)
3,381, 7002 x61H * 12 x4 1%+50% 50,746
HPAH 185 )
3,822, 1002 x4+ 122 x4 1%+50% 3,761
XEZAH(1BEE)
3,287, 8002 <02 x 122 4., 1%+50% 7,280
OtESg 230,820
- B X 40,0003 *340H * 122 *50% 81,600
o INIE 30,0003 * 110 =12 *50% 19,800
- =M At 70,0003 %197 H %122 *50% 82,740
0 RIEDE
110,000 30 * 12 *50% 19,800
- J| El 20,0003 x224H * 122 *50% 26,880
—PEaeay 21,900
=E= 50,0002 %252 * 122 5% 7,500
Y3 40,000 *60H * 12 *50% 14,400
—S424g 284,628
IE+-[PS-" 94,560
52 50,0003 *14H * 122 x50% 4,200
672 30,0002 * 145 * 122 *50% 26,100
892 20,0003 *143Y * 122 *50% 17,160
P, 60,0003 *3% =12 *50% 1,080
KIS Al 50,0003 *28H * 122 x50% 8,400
JISE - DA JHAE
30,0008 %1722 * 122 %50% 30,960




QA YD
M SReHAY| (HE D)
CHR: QIR HH|(EZ) R
SA - BB - S(3H) - MRAY - BES Ol &b ot e MimE=E)
SR e
20,0002 *38H x 122 *50% 4,560
NLSHE 2
10,000& * 15 * 122 *50% 900
Ng2ED IHH3
20,000& * 10 *12& *50% 1,200
LRI 36,300
A5x(0|2YR)
50,000 *17H 122 *50% 5,100
CREEICETEY
250,000 * 18 12& *50% 27,000
o|2I| At 50,0002 145 122 x50% 4,200
- IR 4G 4,320
A LA 80,0002 *9Z * 122 x50% 4,320
- A 4,488
SX(63) 40,0003 * 1= 12& *50% 240
S41(82 Olal)
36,0002 *3% * 12 x50% 648
SHE IR =8tHEH 22)
150, 000& #4H 122 *50% 3,600
- AN EXHREE 39,120
>t 70,0003 *73Z *12& *50% 30,660
JHt= 30,0003 47 H x 122 *50% 8,460
DIRAHR2Y
50,000& *51H * 128 *50% 15,300
O Ab==&t 6,540
= 80,000 *3H * 12 x50% 1,440
= 60,0002 x5 * 12 x50% 1,800
72 0lat 50,000 * 11 122 *50% 3,300
sHs22sH
70,000 & 200 * 128 *50% 84,000
-CAIZ2E QIAI W B 4G
550,000 x3H x 122 x50% 9,900
OFHZAH| 140,000 *820H * 128 *50% 688,800
OYEFIHI 1,318,172
OZ&ZEXH| 842,370
-4 500,000 * 1= *12& *50% 3,000
22 450,000 * 1= 122 x50% 2,700
-4 400,000 x3H x 122 *50% 7,200
= 250,000 x35H * 12& *50% 52,500
= 185,000 & *21 1 *12& *50% 234,210
-= 180,000 & *201 *12& *50% 217,080
-8~9=2 175,000 *269H * 122 *50% 282,450
N 250,000 *3 * 12& *50% 4,500




SA: #ED
E: AR (BID)
Cel: QIHARHHI(E2) (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
-XZAHBSE 0l4})
185, 00024 #2428 122 +50% 26,640
-XIZAH2SE 0l5t)
175, 000! x22 % 1O %50% 2,100
~G1 A} 185, 00021492 122 +50% 9,99
Onpa4g 6,600
~EXRA S 017
300, 000! +22* 122 %50% 3,600
“RXSH S 100, 000! *52 % 1O %50% 3,000
LNV 2,797,623
-2 (6842 ) 2,650,3%
X (262) 106,941
Q1R (93 40,187
02 JIEHE B4 1,649,913 2,677,641 £1,007,728
or-Lb-E 900,708
123 560,257
29(3152)
4,554, 400241210 x50% 27,327
ZAHBSE)
4,165,600+ 13 122 +50% 304,917
2R (215E)
3,437 50021 %2 122 #50% 41,250
&2 (552)
2,077 60021 * 102 1224 *50% 124,656
- HANYTISH(8Z BSE)
3,508, 900! +22 % 1O %50% 42,107
OlEsy 17,820
BHS Xt 40,0002 +202 * 12 %50% 4,800
=P PCE 30,0002 %72 * 12250 1,260
) (PJE 70,0002+ 162 * 122 %50% 6,720
W IESCE
110, 000! #42 % 1B %50% 2,640
JIEk 20,0002 +202 * 12 *50% 2,400
~HHZ A 140,000& 15 68 12,600
-Ha4y 42,020
~HASYIAS 13,860
251014 130, 0002+ 1428 122 +50% 10,920
- 200/ & ~ 251 D) 8¢
110, 000412 % 12 x50% 660
- 15140/ &4 ~20 D) 8F
80,0002 #4102 %50% 1,920
- 10014~ 151D 2F
60,000 %124 * 122 50% 360
~SAYRASH(F) 1,800
AT ARRIA 50,0002 56 122 550 1,800




A HFL
A HZYRAZHI(BEM)
ool QIARAH|(BZ) (S &S
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-PE2R+E(8d) 240
Atz 40,0002 *1E 122 x50% 240
= NES 780
SRS s, 40,0002 x1H 122 »50% 240
=g 30,0002 x3& » 12 %50% 540
-UEEESE 23,819
- A G A 140,000 x282 * 123 #50% 23,520
-SE S0l 112,052,000 #50% 56,026
A2t 2R 4E 73,344,000 *50% 36,672
-ORt2R4 4,978,600 *50% 2,490
-FEIeE 9,229,840 *50% 4,615
- at 3 (289) 104,189
OAIZHEER - LEHIDIH 479,326
-JIZ23 407,667
AR IR (LES)
54,132,000& *1E+50% 27,066
AR ETRIDIRI(CHS)
47,157,000& x2E x50% 47,157
A ETRI DRI (2HE)
41,551,000 *7 & +50% 145,429
- AR EIHIADT R (0FS)
33,339, 000 * 13 +65%+50% 140,858
LI (TE4E)
47,157,000 +2E x50% 47,157
tEE 7,740
- <Xt 40,0002 *10S « 122 +50f% 2,400
L IPNIE 30,0003 +7 & » 12 x50k 1,260
=1 IIE 70,0002 x7H 12 +50% 2,940
LLPERIY
110,000 12 * 122 x50% 660
- JIEt 20,0002 x4 » 12 %50% 480
~SANPAG(ARHIH)
200,000 *25E * 123 #50% 30,000
- HSAHI 140,000 x25E + 123 #50% 21,000
-AZtI2R4E 25,838,000 *50% 12,919
OeR+s 213,779
-Jl2s 163,357
23092 158)
1,815,070 x 1562 163,357
-AI2RI 225 17,750
- YH= 9,861 x15Z+10AI2H+6E 8,875
- ANE 9,861 *152*10AI 2t+6E 8,875
-GS0l 32,672
SESIHI
1,815,070 x 15 «60%*22] 32,672
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